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162010001 (/"R Fitt ALHFALDB WS ZELRELHASE 4.1 211.6] 33,000
162010002 (L =it PELRAWIS ZLRE LRI 8.4 55.1 14,000
162010003 (%712 LADDH ZWWRELHES 5.1 153.2 8,000
162010004 (471548 WEDIFWLT ZWLRE LT 8.5 93.01 38,000
162010005|F /& A LLIFnWwT ZWWRELH=/5E 5.6 48.9 9,700
162010006 |H A 7=C Y unir ZWWRELHLA 6.7 150.1 15,000
162010007 [=E1{E AT HWIT ZWWRELHLA 8.0 120.0] 92,000
162010008(rE » & PHTZITWIS ZWLRELHFME 11.8 100.4] 97,000
162010011 (K4 BEEWIT ZWWRE LR 0.7 40.3 3,000
1620100127t / Kb e NOF-INIAYS ZLWRELHER 4.0 91.8 2,400
162010013 At WL AW ZLRELH=5 6.5 49.4 8,200
162010015|F = HE M WI TAT=OHWIT ZWWERELHFR 3.5 83.6 2,000
162010016 (tHBNE M D g IF7=dWIT ZWWERELHFR 1.5 20.0 290
162010017 (4> » O'HE; HoOEH W ZWWEREELHFR 2.0 81.2 4,000
162010018| KR BEDFT=DHWNIT ZWWERELHFR 2.6 147.0 3,655
162010019 |#ri28t LADDHIZH WIS ZILEZILh™HiE 2.3 127.0 2,162
1620100223/ 11E 4 HohHT=HWIT ZWRELHIMm 4.1 213.01 10,341
162010023 (B & &t BELDIZZHWIT ZWWRELHAKRL 4.5 66.0 2,480
162010024 (BT =B FHRAZHWIS ZWWERELHETR 0.8 39.9 3,200
162010026 |7BJR8Et ENEYAE2 105 ZWLRELHAR 9.5 57.9 5,800
162010029 (& WIF7E7= W IT ELEZELHNAER EER 4.5 92.01 11,200
162010031 |Fa KA LEBBLIZEDHWT ELEZFLHNAEH TER 10.0 43.31 21,300
162010032|F &7 ZL7zIZ =0T BELEELHNANENE, S 7.0 26.0 6,800
162010033 |H4E 4, LB FEH WIS E2LEELHANERZ /T 8.0 54.31 12,600
162010034 (/7 1L o EHWIT ELEZLHNAEHE/IIE 7.5 45.0( 24,800
162010036 KA 58 87 BBV EHOWT [BLUESLHAENSE 7.3 15.0 5,300
162010040/ b SCA WIS ZLRE LmiEPERR 19.2 125.0] 592,716
162010041 (K BBWIS Z LR E L s ETHTET 12.0 98.0 12,000
162010043|7k & HF BTN ELEE LM R B 5.3 16.6 908
162010044|&AA PHIZITWIS 2R ELMiERET4E 5.2 84.0 3,611
162010047 |#710 LA WS =1L B =1L iF R AT AT 10.0 30.0 1,800
162010050 —A&M b W lTAEDWIT SLEEILHREFRINGETF T 78T 4.1 40.0f 10,668
162010057 |F LT AT ZWLWRE LHiEPEEE 3.8 30.0 1,794
162010065tV E WED2EWIS 2L EZ LI SR 4.3 38.3 2,105
162010067 |H # Edith WAYD Z DL T ELEFLHLEELZFMREL 8.2 20.0 5,000
162010068 Hitt 4 Dt OLbDWIT ELEZLHLEELEFIRR 4.0 120.0 7,000
162010069(E LD BRFEzowls EWLEF LM LA LTI 4.0 35.0 1,000
162010071|1R / Loty DD ZDWT ZLEZLmLESFR/ £ 3.9 110.0 2,292
162010074 1 5 Db T=rlEfznb 25 ons [BLEELHLESFE /K 11.2 48.01 10,211
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162010082|=R1 Db HREZ DWW =L EELHLEEKFEE] 4.0 48.5 1,416
162010083|#i/ AFE 1 B |rznzubnbISounls |BILESE LT ILAEKFHAE 7.9 71.0 9,129
162010084 |+ &0 FEALFOWVIS BLRELmLEESF TH 4.3 47.0 5,000
162010092 |+ H&ith ES DL ELEELEL 2.0 36.8| 46,000
162010093 |12 DD H =1L R E LHiRE 2.6 62.0 2,200
162010097 | &2 /IR PHIDDHh 2L R E L FEE 1.7 26.0 1,019
162010098 (%> L 7ith ERl DN b EE.MEE.EEMﬁEﬁE 2.1 36.2 2,320
162010101 |FAEBAA TWRBH7IC 2L B = LM/ \ERT R 12.6 24.8 1,433
162010102|#2 &b FTEDOLITWIT EE.SIJJL%E.%IJJM%PEVF 5.8 47.0 2,555
162010108|FA T PiDith D&EIHADWIS 2R ELMHLES 4.2 33.5 270
162010125 B B 4; FANALTZOWIS 2R E LA 6.8 47.0 2,657
162010129| 128 & DBV 2R ELHEE 3.6 33.8 721
162011026|& / =D <HLDOBHLTOWIS BLRELmLEES 2.9 19.8 28
162011035|#E D th e LBsounit 2R ELmLEFRE 4.5 24.5 216
162020001 |5 —/\t&1b Wb iEBFEFAWS 2L ESETRAES 4.5 24.9 1,280
162020002 |25 —/\i&th ZWIZiEBEFAWLT ELESETRAEY 2.7 30.3 1,700
162020003|#& &ith 5 LAWY Eﬁzm/ﬁé‘lﬁﬁﬁiﬁ—ﬁ 4.0 50.4 3,330
162020004 |-t it B EFZWIT =21 R e RAR— 2.2 1972 5,460
162020007 |5 %A1 B |LH <A VWBEITS W |BLESMATHARH 24.3|  112.5| 123,900
162020012|FREARN2 5 |HHEXRHIZT I WIT =1L B e ARH 6.0 94.1| 34,370
162020013|FREARN 1B |HrErbnb 50 |BLESMATHARH 3.5 94.2| 11,430
162020014|FREARN3I B |HHrEPHLIATI W |BLESMATH KA 20.5 70.7| 61,900
162020017 | &b BTV =1L B e ARHE 3.4 54.2 2,550
162020019 |RE R0 CEITWIT =1L B s ARHE 2.5 85.0 5,970
162020021 |5E)I EBF 1 5 [T hh S hbons IS WHELESMETE 3.6 41.8 1,250
162020023| 2N A Lt PHIFCTAWVS BLESEmE+E 2.7 52.4 5,190
162020026/ 113388t NHWITFZH LIS =1L B S LI 3.4 84.0 2,910
162020030/ &xth ol AN b4 BLESEMARE 0.9 27.4 31
162020032 |5 FFHH &t Wh2EEr7ECENT |BLESAHAET 3.9 48.6 2,870
162020035 RJI =M ZD iAW 2R REEETR) 4.2 103.2] 12,171
162020043 |/ \XHE#Tt PLARZLAWS 2R e REER) 9.0 38.0 8,300
162020044 | 23783 S hDT=HWIT = 1L B fE e BT B8R 6.5 20.0| 16,440
162020050| 1A At PHRER LWL =1L B fEEET R 3.6 23.5 1,583
162020060|HE8t AADT=BWNT =1L B e R E 4.0 58.0 3,500
162020064 (/N EEAH ZEYMeHWNnT =L B fEEET R <E 3.4 47.0 3,686
162020067| At BEZVIT ELESHETRA—Z 2.5 50.0 1,090
162020068 7=t HI LI ELESHETRA—Z 3.8 42.0 474
162020069 |Z &b M IS =1L B ARHE 3.1 24.0 736
162020070| 543 EL7ITWT =R e ER 3.3 29.0 1,209
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162020071 | A& <T AW ZLESHHEBER 3.8 79.0 2,441
162040001t Eith LB WiT == %limj(/}{‘%/ﬁ/ﬁ% 14.2 58.6 7,504
162040002(% E£itb DR LT = BEmSLE 6.4 81.9] 23,851
162040003 KE A7 BEIHHREWIS = BEMKE BT ER 5.2 159.5 8,018
162040004 (/& haly sl AN 54 = BEMRORFHS 5.7 38.9 2,530
162040005/ NEAB (NFth) (231 FE (SF=ZWif) |= BmEMINEAR 4.5 19.9 16,395
162040008 | EEF &b DIEDHEHWIT = BRI F AL 4.4 96.7 2,960
162040009( &5t B W IF = BIEMITHFTKEE 3.8 67.4 1,114
162040011 |HE L T2AIED D Z Wi = BEMIFEF)IHE 5.2 95.0 6,700
162040014 (KBt BBLLOITWIT = BEMTFTFTARE 3.4 75.3 651
1620400154t it T FE WS = giEmitLFxRHEE 6.8 92.8] 12,240
162040017 [{s& 40 WIF7ZIC2 0T = BERBATEF 9.0 40.8 4,360
162040019|m7H FRIZWIF EEQIJ_I BIEM/NEBFIRAN 2.2 86.5 1,677
162040120(/1EF 1 5 WLAZEEWS 1 Z5 W | ELERERATRENZELALE 2.5 43.0 333
162040121 R1EF 2 5 WLAEEWS 2 25 W |BLERERATRENZHELALE 3.6 26.0 151
162040124 KEFFHF 15 [0 VWL LA 1 T ) W [ELEEZEHRKFREBANFREKS 5.1 40.0 2,196
162040125 KEFFH 2 51 [0 WL LA 2 T 95 W [BLEEZEHRFREBAN FREKS 3.8 28.0 885
162050001 (& E Kt LEBBBWIT Em%ﬁk%ﬁ?—%}% 7.5 187.0] 97,560
162050002| & E /it LEBIWIT ZLWEKETHEE 7.9 101.0] 11,460
162050004 |E iz mhHhLATW BILEXETEE 2.0 181.0 4,830
1620500056 |ELE AL L W ZILEKERm=H 1.7 100.0 7,510
162050007 R = BBt IFASRAS W ZWLWEKEHTHTF 1.7 51.4 340
162050008 &40 T B7=ITWIT = 1LEK R HREE 6.9 75.8] 21,090
162050009 (K EA M BEiroBB0nT ZILEKRHAHE 5.0 108.0] 62,400
162050010 E4Eith 7=FIELWT = LBk B 6.6 45.0( 26,480
162050014 |Faa At IZL®BH0nT = LBk B 6.2 43.7 14,670
162050015 A At NEPHLWIS = LBk B 4.7 56.9 18,350
162050017 (L E b SADD WIS ZLWEKEH EAZR 6.4 131.0] 14,100
162050018(=H Wh 7=\ (T ZILEKEHHARN 6.9 77.01 19,450
162050020 |t Hb MATZWNT Z LBk B+ ZHT 2.3 19.5 560
162050022 [/ \ &b IEbFEAWT Z LBk B+ ZHT 6.0 64.2 4,300
162050023 ER3F L&oIlFLuwiy =ZILEKRHHRAR 2.8 92.6 9,040
162050026 |8 + AR FTh IFADPH LA WS = ILEK R HREE 3.0 77.01 10,880
162050028 |E /M Lt ODLIE7=D 2 W iT ZILEKRHILETF 2.7 58.0 6,040
162050030(RE K BOhBEBEBBWIT ZILEKEHEE 6.4 70.11 38,640
1620500312 / Beitb <CHDWAWLT Z LRk R MR 18.2 85.6] 688,860
162050032 E KM 7ZIZoeBBENIT ZBLEKEHAE 3.3 248.01 18,940
162050033 0Tt DI LAWK = 1L ROk & hnd 4.7 124.0] 57,100
162050034 1A At DI EBWIS = 1L ROk & ini 4.4 154.0] 170,830
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162050035 &Kt PH W ZFWLWEKEHHE 4.0 169.5] 28,740
162050036 |7k & ith N e A Z LB KB Hima 7.2 53.01 25,340
162050037 K 2Ll & D TWIF ZILEKRHima 5.2 170.0] 37,480
162050038|H#J A L oEBHEWIT Z LRk B H R 5.0 188.0] 42,390
162050039 [#TR A LAIEEEWIT 2B BHER 4.6 187.8] 39,150
162050040(% F si#THI HEEFZLANLWT ZILE KR M ER 4.1 98.3 2,060
162050041 [ F ByA gEEFZBEEBWIT ZILE KR M EH 6.3 45.0 3,580
162050042 [17#1 Kb =iFbBENIT ZILE KR T EH 2.8 100.8 3,790
162050043 (&A1t PHEPE WS ZILEKRH EH 7.4 75.8] 22,520
162050044 |7 » & LA B WIS ZLEKREHEtHr— 3.7 86.0 8,680
162050045\ A¥ T 1 5 DHBEITWBIS ZLEKEHEHr— 1.2 130.0 4,590
162050046 (AW T it O LPBELDWVIT ZLEKREHEHr— 3.6 39.0 5,860
162050047 |EEAAN Lt OB LB HNT ZLEKEHEHr— 4.1 59.0 2,010
162050048|1&H A LEIZBBWIT ZLEKREHEHr— 3.0 100.0] 17,330
162050050 FH 10 LLEWT ELEXKEHR 5.6 99.01 15,050
162050052|&A / g PHEDLHLEZWIT ELEXKEHR 4.7 71.01 10,710
162050053|&A / OB PHEDLHLELWIT BLEXKEHR 3.9 38.0 5,550
162050058| A F &/t WL EPRLWT Z LB KB HimA 5.6 73.0 8,100
162050059 =+ X w20 WIF Z LB KR Hima 7.3 40.0 9,990
162050060(E it BIAWLIT Z LB KB Hima 1.1 73.0 2,600
162050061 [FFE7ith DFDWIF Z LB KB Hima 1.9 60.0 1,310
162050062( £ L AR EIZWIS ZILEKBHima 3.1 52.0 3,390
162050066|F HA M LL7ZBB0IT %HJE—*%FDEAEH 3.5 15.7 4,380
162050070|/MEL D T it WbZHDLEWT E LBk B 1.3 108.0 8,820
162050074 E &4 D EITWIT E LBk B 3.0 46.0 8,030
162050077 [ AR THWIT ELEXKEH ‘:F'ﬁ 3.3 259.01 15,080
162050078(r= D& FTED/ITWIT ZILEK BT 3.8 46.0 5,240
162050079(EE HHXRWLIT Z LBk BT 3.7 78.01 14,530
162050081 (B &t LD W T =2 ILEK BHER 3.8 50.3 6,120
162050082 |EA At L&owbunis ZILEKR IR 5.1 40.9 5,790
16205008935 # &Pt E5HAeH 0T LR KEHEE 5.3 38.1 4,610
162050090 RE#T 1 BB LAWT ZILEKEHEE 1.7 51.31 21,910
16205009231 1Lk FH0EEBWIT LR KEHEE 54 28.0 2,210
162050094 |[# D & At EHDRHL WIS ZILEKRH/NE 5.5 50.5 8,990
162050095 |#T;tt LAWT ZILEKRH/NE 4.6 36.0 6,710
162050096 D &Att WITDXRH N IF ZILEKRH/NE 3.8 59.0 3,510
162050097 [ 1L b THVLPFE WIS ZILEKRH/NE 4.5 88.2 10,140
162050101 |7t LAWT ZILEKEHHET 5.9 188.0] 12,650
162050109| =&t D ATZAWT ZLEKRH= 4.8 27.4 2,490
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162050110(##n2=10 ZHBIZTHWT ZWLWEKEH=ZE 5.8 37.0 5,250
162050113 |#e;th CoWif = 1LEK R KA 3.8 14.4 730
162050118 s WS = 1ROk R hfdiik 5.9 35.5 11,340
162050119(%&FH WD ZTAWT = 1L ROk R hfdik 8.7 57.31 29,500
162050125(& 1Lt LEVCEWT =2 LBk BifEta 5.6 100.0] 41,220
162050126 K& BEICWIT ZILEKRHRI 18.5 137.0f 85,800
162050127 =& At THLPHL WIS ZILEKRHRI 3.4 33.0 3,410
162050133(=V E HDORWNIF ZILEKRFHRI 3.7 108.0 4,490
162050135 |#Tt LAWT ZILEKRHRI 2.0 15.0 270
162050136|H F A At S B ERHWT ZILEKRHRI 2.6 42.0 2,980
162050137 |2 #thn b L2 LAWT ZILEKRFHRI 2.9 32.0 830
162050140 = At TroLebunT ZILEKRHRI 3.6 49.0 4,500
162050141 (A Kt EREBWIT ZILEKRHRI 1.8 40.0 1,010
162050146(E(SHD DLAEZDWIT ZILERKR A 1.1 26.7 930
1620501472 Dith DODHD WS ZILEKR A 6.9 31.5 3,150
162050150( B9ttt 1 PLAWITLE ZILERKR A 3.4 18.2 1,310
162050151 |E51itt 3 PLAWITZA ZILEKR A 4.2 15.0 1,430
162050152 E A mhEunT ZILEKR A 2.2 36.1 4,500
162050153 &tb HEZITWIT ZILEKR A 3.2 40.0 3,730
162050162 A Ko E & D TAWTS ZILEKRHILAL 5.3 453 11,440
162050163 = Mt FHZWIF ZILEKRHILALL 2.6 48.1 13,030
162050164(=75itb SAES WIS ZILEKEmHRFT 2.7 19.5 1,860
162050165 =X SALwHIAY WIT Z LRk R HiskE 3.6 40.0 3,470
162050166(EAAARM 1S |[K LARBWTIWE IS [BILEXKEHIER 2.7 36.0 2,410
162050168|5 b =D 0o WIT =2 LBk Bk 5.7 453 22,970
162050169 =Xt AL WIS ZILEKR AR 9.9 98.01 38,580
162050170t CoWhif BILEXBHE 3.5 63.2] 59,330
162050171 FH HFAT WIS ELEXBHF 8.6 117.2] 204,710
1620501 72|fFiE AT E WIS ZILEKEHBII 8.7 79.3] 61,250
162050173 (& H K PRT=BEWIT ZILEKRhmEH 5.9 70.01 11,800
162050174|7/X+ &AWt ALDHBRHB NS ZILEKRmEH 6.0 60.01 10,890
162050179|FHFH A L LDFZITWT ZILEKEHFRK 5.7 71.1 14,090
162050184 | At [E) M CeZZsLrE70IT BELEXKEHAZEE 2.2 44.5 1,140
162050185 |HEF Mt HZIER LW ZFILWEKEHmAE 9.1 50.8] 23,202
162050198 (kD A 720D E WIS ZILEKREHHH 3.6 51.4 3,880
162050200( 1 Xith W < WIF ZILEKR AR 2.2 68.5] 23,090
162050202(2X Dt (2 DWIT ZILEKR AR 7.2 187.7] 43,730
162050203 (=H 1 ZO7EW T ZILEKR AR 5.9 71.3 5,090
162050204 %7 £ OHdDH) AW ZILEKR AR 5.9 52.7 8,380
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162050216| 2 v 7 ity HRTAWS ZILEKEHER 3.4 80.0 3,900
162050226 | EARIE BIEITEZ WIS ZILEXKEHER 6.1 52.0 6,510
162050227 | < HEBA A Rl=RPH WIS ZILEKEHER 5.8 76.71 15,150
162050228| EAE BEIZBEBLWIT ZILEKEHER 6.0 66.01 33,190
162050230|{& /5 I oWy ZILEKRHRAR 2.8 53.3 2,970
162050235 @ik D b ZLEHhDWnT ZILEKE M EH 7.9 66.2] 14,600
162050236 K LK BEOHEBEHWIT EILE KM BEAE 4.3 25.8 6,110
162050238|#Hith > LATZWIT ZILEXKEHRIR 7.4 54,51 16,640
162050239|E &t o2 WhiT ZILEXKEHRIR 9.2 51.6] 25,160
162050243|#%&48 2 LAWIT =ZILBKRHAEE 4.0 210.01 10,980
1620502442 + B HOHRH WL (T =ZILRKRHAEE 3.6 124.0] 26,380
162050245 (= H & EDEBL WIS EILEKEmEs— 3.9 54.0 3,730
1620502462 D FEIt 7ZICD X ZWIT ZILEK R mreME 1.4 80.0 2,960
1620502491154 7T W T BILEXEHERE 4.6 74.0 6,720
162050253 (B D At ZFEDIZITWIT ZILEK B H/NAK 3.5 79.9 4,110
162050254 |E& Wi ZILEKBH/AAK 5.7 99.1 3,950
162050255(F7Tith HHEWT ZILEXEHAE 4.2 87.0 6,510
162050266| T &b mHAEWIT =2 1L Bk B miFits 5.7 46.0 8,230
162050269 B/ 51 DAL LWIT =1L K B it 2.5 3556 950
162050270(=7 v &t GEesn [ThH Y 7ZA WL =2 1L Bk B miFits 3.2 35.4 1,450
162050274 R 1L WLIFEFWIT ZILEKEH—7 5.3 55.00 12,600
162050278|&5&tb L& 2.WIF Z 1L BB HEAR 3.5 24.5 5,550
1620502811 Lt L ohmdAHWIS Z 1B B HFE 4.2 124.0] 21,080
162050282 &M LERWS Z 1B B HFE 3.3 130.0 2,380
162050283 (T = Hitt LAEOHZWIT ZILEK B HILALR 6.3 499 16,570
162050285( LA Dt MEREZICOWNT ZLWEKEHAES 6.4 31.0 8,940
162050286 |zttt AHABWIT ZILEKEHER 5.1 50.0 4,860
162050287 (Kt BHWIT ZILEKRHF 7.0 81.2| 20,410
162050290| & H PhHiZWIT BILEXEHERE 4.4 53.0 6,930
162050295 FEA A 2o bPebWS EILEXEHAE 6.3 28.1 1,339
162050334 |80+ Bt WAL H W (T = 1LBoK B iE 5.2 22.1 8,713
162050343|gTH Dt FRIZDOWIT ZILEKBHFE 3.7 16.8 143
162050351 |/8ER Dt mHETDWIT ZILRK R mreME 2.0 8.8 1,241
162050354 (1&5| Dt L ZUOZEDWIT ZILEK R mreME 1.6 41.5 365
162050356 |#NJE Dt PRSHLDWIT ZILREK R mreME 2.5 64.3 859
1620503572 Dith DODHDWNIT ZILEK R mreME 2.0 29.3 976
162050360 K% Db BHLIEDOWIT ZILEK R mreME 2.5 7.0 767
162050362+ HKM BhTZEB W ZILREK R mreME 3.0 12.6 3,694
162050376 =k 1 St APREIHWNE TS WIS =1L B oK B iRk 8.3 45.0 1,752
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162050391 (yNH D HITZDWNIT ZBLWEKEHER 4.1 12.7 1,927
162050420(3& 12 BHTDODOH ELEXEHE 2.3 76.2 7,314
162050421 (=12 D LD DH ELEXEHE 4.1 128.8] 32,878
162050422 |8+ B EDHRH W IT Z LB B+ ZHT 1.4 52.5 931
162050427 |5 EBUH SBRLEWT ZEILEKRH+ 0.9 33.9 221
162050428| &)1 LLArbWwis Z LBk B+ ZHT 1.2 28.3 183
162050430| /AKXt HM < bBEHBWIT ZWLWEKEHER 2.3 61.0 795
162050432 |BEHE KM PELEBBWIT ZWLWEKEHER 5.7 33.4 3,341
162050433 |EER A LI LRBWT ZILEKRHAHE 3.0 24.5 1,972
162050453 £ Dt L)X D DWT ZILEKEHFE 5.3 25.5 1,754
162050466 | LER L&o<AH0T ZILEKRHRAR 2.8 71.8 1,153
162050497 | KA Kt BEoBEWIT LR KEHEE 1.3 25.6 2,798
162050536 |2t Z W F ZILEKREH—7 2.5 36.6 495
162050538 |7kt H YU WiF ZILEKREH—7 3.0 35.9 1,407
162050554 |/I\VFE Hith ZWEBZWT ZILEKRHHRE 2.3 55.0 1,596
162050558 KT 5t BHIEFLIEWIT Z LB B mima 2.3 48.6 427
162050586 |{fElith mhEWT ZWLWEKEH=E 3.9 24.6 1,020
162050598| =AM EDRHbWIS ZILEKRFHRI 4.0 27.5 1,140
162050599(B&AM 2 5 DIZIZWNTFIZZ ZILEKEFHRI 3.2 35.7 1,092
162050602 |pa At EFNYXRHBEWNIS ZILEKRHRI 4.1 46.6 2,429
1620506072 7 ith EEeIA) ZILEKRFHRI 2.8 19.1 252
162050608|= » & At HRHRH W IF ZILEKRHRI 3.9 55.3 2,932
162050623 (ZE 1L YR FEWT ZILEKRHFE 3.1 25.5 230
162050626\ AR P AT WS BWLWEKEHEE 2.8 58.3 1,262
162050631 &L H D it X TDH WS EEQIJ_I/EUK%T‘E% B 4.2 27.7 1,847
162050634 | it DRAATZLWVIT BELWEXEHE 3.5 28.3 2,077
162050638|F B& HIHTIZITWIT Em%ﬁk%ﬁ?quﬁ 3.9 62.4] 16,793
162050645 =&t SAIED WIS ZLWEKEHARE+A 12.3 95.71 42,896
162050656+ &t AL FEWS ZILEKRhmER 5.8 25.0 515
162050668 7x# 10 2AHY LAWY ZILEKEmHRFT 8.3 29.6 872
162050669| L7t DAHYSBWT ZILEKEmHRFT 3.5 24.6 485
162050686145 2 =it FEFLEITTH W = LBk Bk 2.1 22.3 664
162050687|IlLA 2 5t PEITITTHWWIT =2 LBk Bk 3.1 54.8 1,300
162050693 (&t LEWT ELEKB A 5.8 26.2 1,652
162050743/ BHD WIF7TZD W T ZILEKRH ERI 4.5 72.8 4,328
162050759 F o+ &t =P H W IF =2 LBk BifEtE 3.3 18.3 176
162050764/ \#H [TBF WIS ZWLWEKEmBEAH 4.7 29.2 1,305
162051495 (=¥ =it TAWLNE D =D WIT EILEXBHF 1.7 12.4 125
162070003|= D& ARD LT WIT Z LB EEH AL 3.1 49.0 4,700
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162070004 (K% 3 = HED3IT S WIF ZILREEFH AL 3.6 46.0 5,700
162070009 (#0R AU AT PREIhRo LiWT [BLEEISS L 10.7 98.01 27,000
162070011 |ZE&H T {IFD L= T ZILRERHES 5.8 62.0 5,600
162070012 A HE L WL77ZD D ZWIT LR EEH AR 4.2 60.0 3,000
162070013 HE T WL7ZZD L7zWiT EIL BRI AR 2.9 56.01 11,000
162070014 |FtL %% HIEHEL LDWIS ZILRERHILE 4.6 57.0 9,500
162070015(RUFAT N> L& Wis LR R H AR 2.1 29.0 1,900
162070018 LH PELZWIT ZILREEH LA 4.4 38.0 4,300
162070019( it (F=BEH#H) |mreiuld (Lwdkraind) |BILEERERFH P L 14.2 335.5| 268,000
162080001 |f& 1L KA SR EFEWNTZH WIS =1L BHmE =L 10.2 170.0] 102,000
162080002|= (L1785 FORELDOWIS Z 1L EBHE T EES 8.7 91.9] 18,576
162080004 | H D2 SLATZDDDH Z 1L EBHE T EES 1.7 70.71 18,405
162080005 | XIm) &=t TASTIT W =1L B AR E Ak 8.7 43.0( 13,553
162080006 |t NS ZILEHEHIHA 4.8 36.5 7,309
162080007 |2 D> At FTEDICWIT Z 1L EBHE T EES 3.8 27.0 1,204
1620800087k Eith HTH AT =1L BHrE e 8.5 40.0( 21,600
162080013|AADM(RAM) [7zATZADWIT =L BRI 3.9 25.7 1,000
162080014 |F&A Dt WE7ZIZD W T =1L B AR s A AT 6.5 34.5 2,486
162080017 |tr&psE—oits (et |72 17 N7 L UWB D LT I GV 4.0 30.5 1,707
162080027 |FME— Dt OB LEEVWED W | B L BRI EBRT 5.5 25.0 3,098
162080032 o (vRoE3DM) | Z L DD DH ZLRHEETRE 3.2 29.7 666
162080047 |7 & Fith REOL W =1L B AR s A AT 6.6 27.0 3,245
162080049 = &b AT W T ZLEHETAES 4.6 27.4 1,145
162080052 |geF1& DH T DDH =1L B AR ) | BT 2.9 72.9 2,077
162080056 Mt H L TAWTS Z 1L EBHE T EES 3.1 26.8 685
1620800574 » At 5 LATZIT WS ZLEHETAA 7.3 60.2 8,827
162080060 | REkith EDLAWT NI GRS 4.7 27.6 1,883
162080075(FB=D b Lo Lowns ZLRIETHES 3.3 335 520
162090001 (B4 A IEIZw > BEHBWVIT = ILB/NKETIEAE 18.3 124.0] 225,000
162090002 |1z Kt DOHRBBWIS ZILER/NREHELA 6.2 74.9 9,400
162090003 |FX BB A WCAIEBEBWIT =B /NRES T EIFE 8.3 52.51 13,800
162090004 (1L F B2 7 SADDBLIZHWIT = ILR/NRESTHER 4.5 50.51 13,709
162090005 (1L £ H &M SADY LSBT WS =B/ NRESTHER 4.4 102.8 9,815
162090006 [/ WS EILE/NKEHEREK 6.9 106.5] 36,737
162090008(=H Wh7zWh T = LB /NREBHIMK 9.4 25.01 11,210
1620900093 ith F50RFEWVIS = LB /NREB MK 8.6 41.5( 13,800
162090010| 54 1 58t MAHITHAICWE T D W BILENKREHFA 6.5 7591 20,720
162090011 (A 1 =) S LALICWET S oWt [BILE/NEETHEA 5.5 75.51 11,940
162090012 |t » &t LN LIzHW T = 1LB/NRESTEMNT 7.9 56.01 20,332
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MRS ZFR Bz 1R 5 (m) [$RIBR (m) | #85K & (m3)
162090013 |#&:th LAz WIS £ KEPTIEMSF 3.1 32.0 9,077
162090014 |E23ith L L7zicwiy £ KERTHIEE 5.6 51.5 3,911
162090015|\ B &) E- U L EIZkHWT |B KL EF 9.1 90.0 25180.0
162090016 | & H A TZICiEBEB LIS £ KEbh = 6.9 2325 26,610
162090017 | L5+ 3F#E; NHLELIELTZHWVIT |& FEFTAA 5.4  120.0] 14,790
162090018 B L1 TERVE S X DDOH NIy \éEﬁBrbEi)i 2.6 34.8 2,251
162090020 (&4 = Pt NAZTZHAW =1L B/NREBH AR 9.5 117.0] 68,000
162090023 (%% 2 574; S LARICIZT S oW E NEETAA 7.2 61.8| 15,600
162090026 | £ HE A THELEAWT £ VR AR T S A 5.4 56.5 7,842
162090029 ALl 1 Sith SEPENBIT S WIS £ FER T HT 6.2 74.1 4
162090030 K &7kt BHELLIT WIS = LB/ N RER BT ET 4.1 96.4| 5066.0
162090031 | A& BEIBEHWLIS £ FERTIRIK 10.0 50.0 25,200
162090034 |E3h 78 LLIFS =W IS = VRER T R BIA 3.8 36.5 3,973
162090035| K& 1 Sith BELIFVH TS W £ e TE=]= 1.9 33.0 3,318
162090036| K% 2 Sith BBLIFICT I W £ e TE=]= 4.2 64.7 3,339
162090042iR)II 1 5 ZF53T50IF0HIS £ FERTH =T EY 6.9 40.9 9,811
162090043iR)IIt2 2 & ZH5TH5WIFICTH £ FERTH =T EY 5.3 19.0 1,350
1620900453t 1 S5t Gemit) [WLN T2 WD TS5 W IT = KEP T AITER 2.1 65.8 1,556
162090046 |4 Et BHWEBH LT £ FEP LT 3.7 32.2 856
162090047 [ K XHE; BBlEH0n £ REHLETF 4.7 65.0| 8200.0
162090048|TE 10 [FeA- - AN 5s £ REHLETF 4.5 31.6 1,069
162090049 |2 F#ith HABHLLLAWL £ FEP LT 5.0 49.7| 2726.0
162090052 |73k 1 =it HYIHhWNB IS W = KEBH =D& 3.7 50.01 1714.0
162090053 |28 K0 ARBHEWLIT £ KEbmsE 5.6 98.4 5,617
162090055|= FFAth HPRABEE LIS £ FEpmE 5.0 71.7 7,866
162090056 |5 12753 H A WhEENVWTABBEWII|E e E= 75 156.0] 18,485
162090060 |51 &, FRALEAIFVT £ KM TER 0.7 22.6 17
162090061 | Kt WL IE7z 0 £ VR ER T R 2.9 61.0 1,274
162090062 |#7E Lt BUbiY A0S £ VR ER T R 3.2 28.5 1,169
162090063 |#TiE T ith BUbY LW £ VR ER T R 6.4 27.0| 10,863
162090064 7&K &t LAF IS £ KEbmiER 7.9 83.0 11,200
162090066 |2 72 x>t FTERPWLIS = KEShEERE 1.3 34.3 301
162090067 |fHEHith W70 £ FERTIRIK 3.7 30.0 9,728
162090070 & AE; T EROWIS £ Kabmm 3.6 48.7 1,580
162090071 |ZEF A3 5B |[20sRICEAT IOV |E FERT R 5.3 77.7 5,360
16209007248 / A#ts EFODEITWIS £ KERTHIEE 3.8 56.9 1,120
162090075|BI At T 12 TELRWHE L7TZD DA ZILR/NEEHAR 3.5 46.6 3,574
162090077|ERA TR BRALAFEICLED2H |BLUENKIBHAR 1.8 53.0 414
162090078 |8t (FBEEH) [IZLB < md W = L%/J\%*BmEi}i 2.8 40.7 2,478
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162090080 |7 &85 ZHL X BT =L E/NREHERE 5.4 56.2 5,416
162090081 #2285 DOHRLZITT-D WIS =L E/NREHERK 9.2 76.3| 24,976
162090084 |3 &ith WD 7T W =L E/NREHEA 10.4 73.3| 13,500
162090086 |7 #ith ERY AR5 =1L B /NREBT B BR AL 3.8 36.7 1,640
162090088|F#5:th ELIEWIT = LR/ RESHAEH 2.9 28.0 360
162090092| = L+ &b T LAFICWS =1L B/ NREHIL— 3.0 30.0 2,080
162090093 |z &ith WD LS =1L B/ NREHIL— 2.9 42.2 1,801
162090094 |7\ FH3th HFZWIT =1L B/NREB TR 3.7 24.1 2,411
162090095 |3t FHth W72 = LB/ NREB TR 5.4 32.8 6,657
162090097 |FFH 2 TAWLIT =1L B/ INRE L 2.6 20.0 1,002
162090098|ELF b HAEWT = 1L B/ N EB I AAK 0.8 17.7 447
162090100| 5 iliits Griviatip) (A £ L = 1L BN EB I AAK 4.3 75.6 5,744
162090101 |ksith ES oW =1L B/ NVRERT AL 5.0 48.8 9,830
162090103 | Xt HEWIS =1L B/NRERH AL 2.3 41.9 1,789
162090104 | B~ H SRELZD WIS =1L B/NRERH AL 3.3 25.3 2,037
162090105(/ it (RLH#A) [RAXR LD WIS Z LR/ NREBRA L 1.9 21.2 639
162090110| =&t ARG W IT BB/ NKRETEA 2.2 55.8 1,129
162090111 %/ &its CEEF) |HE DI W =1L B/ NRETHIARET 4.4 47.0 3,491
162090116| &A1& SBEHIHWIT =1L B/ AR AR 1.7 21.0 160
162090117 |Z@ =8 &Pt |AbSAL LSV |BELENETHER 4.3 48.0 3,600
162090118|#)11t Rllo@w) |H Y hbhDi=d LIS =1L B/NREB T AT 3.8 29.3 1,640
162090119|/& &7 i< h oW =1L B/NRER T AT 3.9 50.0 4,920
162090122 |2 H S 7Bz WY =1L B/NRER T AT 6.3 51.1| 11,700
162090123 |2 FHE S TzICiEBELmo0nT =1L B/NRER T AT 5.4 40.0 4,680
162090124 |F&:th Wiz WS =1L B/NRER T AT 2.9 62.4 3,550
162090126 |F A Kb EoIBBVIS B ILRB/NREHEA 5.7  109.0f 17,870
162090127/ = ER;tb Wo XA 5 Wi =1L B/NRER T AT 6.1 90.0| 39,670
162090129| 5 4A 1 5 IHRLEICLB IS HWnT |BILB/NEETHAA 2.6 39.3 1,480
162090130| =874 2 580 IORLICICT S oW BLENREHAEA 3.8 43.0 5,980
162090131 |=%FA 3 58 THORLICIATS =HWIT |BILEB/NEETHAA 2.3 23.0 970
162090132| L% B Eith BAREBEZTHWIS B ILRB/NREHEA 3.2 31.0 1,780
162090135 %M EHZ3IBHM  |H S LIZIETATH W |BLB/NEREHEA 5.7 72.0 9,020
162090136 | K285 BHRICEDWIT 2 ILRB/NREHEA 5.1 38.7 2,830
162090137 | &F %) HALS LIz BB NREHEET 3.6 35.0 2,290
1620901391 K ERE; TAT=AS DWW B ILRB/NREHEA 6.0 62.0 8,310
162090140| X &85 FIT oW BILRB/NREHEA 4.2 41.0 6,500
162090142|HR 1 5t Lodbnbs7olWHELRMNKREHLES 10.1 84.4| 27,590
162090143| AR 2 57&; LoshicZrzdnld |BLBNEEmELESF 8.2 59.7| 14,680
162090145| F /& £3FEH LHELC &S ELEDHVIT |BLERNEEHAA 4.2 106.7| 14,400
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162090146| EFEAR 1 28 |SAWEICLWE IS o WIT | B ILEB/NEEpr i 2.5 15.5 330
162090147|EFA 2 58t [TAWEIZIZT S Wi |BILE/N&REfmiEit 4.3 34.6] 4,310
162090148|F2 & AH TABWEBBWLI = LB NREBHZAA 10.7|  105.0| 106,000
162090149 ZEKith fehssBWL = LR/NKREHRITE 14.4 60.0| 61,000
162090150|47iE 1 =3t BUbEYWHEI S5 W | BILR/NEETHETE 6.1 19.0 7,885
162090151 |47 2 =3t BYbhIcTH W = LR/ N E T E TR 7.4 49.0| 15,183
16209015247 3 =3t BYUbDEYESAZTS W |BLENKETHETE 8.6 53.0| 23,887
162090154 (%% 2 Sith LAZ=-IZIZZ S Wi = LR/ N E T IE T 4.0 29.0| 1,075
162090169 |IE %t L&oBAWLT =L E/NEEHE R 4.8 33.0 899
162090177 [# it E0EHDWNIT = LB/ NEEH AL 6.6 30.0/ 1,628
162090178|E#ta it ETZLICWIT = 1L BN IR S 2.9 24.0 543
162090179 K&t BHHWVIS = 1L BN IR SR 4.7 52.0 2,970
162090180 |5t ot Lo WIiFRicunis = 1L BN IR S 6.5 35.0] 2,795
162090181|EEA T3t Led<CRIZLBW = 1L BN IR SR 2.9 32.0 657
162090183|— v Bt O EDIFL WIS = LB NI BERR 6.3 37.0 908
162090184 |/ E it HIbLDOWIT = LB NI BERR 6.7 48.0] 2,818
162090185 |Z At T EITwg = LB NI BERR 4.8 32.0] 2,623
162090186|x:th HEWIS BWRNREHNHRS 8.1 30.0/ 5,321
162090187 |Bs&aa) L &5 7EICWiF BWRNREHNHRS 8.3 53.0 7,158
162090188 |#A %t PHRELICWV BWRNREHNHRS 5.2 33.0] 1,240
162090189 =Bk A te EAFWVEICWI = LB NREBHZAA 3.7 35.00 2,174
162090190| & pith BAE WS W = LB NREBHZAA 7.0 61.0 8,420
162090191 |EEA ;s OA LY DT = LB NREBHZAA 6.1 68.0] 7,559
162090193| HEA M TEEITW = LB NREBHZAEA 3.3 26.0] 1,330
162090194 &t A RDIZIZ W = LB NREHARIRE 6.1 31.0] 2,729
162090196|X;th 1 St HEWTLHLIT S W ELENEBHAA 6.3 62.0 7,684
162090197(5 % S bt 5% 5buwit ELENEBHAA 3.2 35.0] 2,745
162090198 K Fith BHUOHWVIS = LB NKPHER 3.0 39.0 2,891
162090199(3¢A (A) b mLE (KB) Wi = LB NKBH R 1.7 25.0 15,592
162091011| K% 2 =3t BHUFITTH WIT BWRNREH /& 2.8 18.3 249
162091023 [ /\i&& it EbEATICWIT ZLENEBHEAS 3.7 22.2 479
162091024 [#uE ) LZ 57y ZLENEBHEAS 4.0 545 6,398
162091025|X;th 2 Sith HEWIFIZTH W ELENEBHAA 3.4 42,0 3,001
162091026 (&t AN W ELENEBHAA 3.0 32.0] 1,646
1620910284 1m0t NEIoIN b, = LB NKBH R 2.3 90.0| 1,482
162091029|Fe it TR = LB NKBHER 3.1 16.5 1,220
162091109| % DTt EDFEZ WIS = LR/ N E T E TR 1.8 36.0 370
162091119|FLILIAR 2 Bt [ 720 E 2151225 Wi | B 1L B/ K2R AR AT 3.2 448| 2,326
162091128z HE D 7= &t BATADI=HWIT = LB/ N E I ERE 4.7 20.3] 2,193
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162091137 [FEaits (Z/ FDiR) [ARATTITWLIS = 1L B/ EB TR BT 3.2 51.4 3,707
162091138|k =~ HLIATZITWIT E LM/ NRES TR ST 1.4 4.3 116
162091139|#TiE 8 HoDIDDHAWNS = 1L B/ EB T Tk 2.6 52.1 1,749
162091141 |%&F (BEEHMH) |[HALHL (KFowl)) |BLEB/NREHEESF 3.2 63.3 8,276
162091145|5 2 obh 25 |25 HhICT O WIT 2 ILRB/NREHEA 4.8 87.0 7,042
162091163| 1= 1 58 SBHEWBE TS W BILRNKREHERE 5.8 28.5 2,188
162091164| 1= 2 5t $BEITTH WIS BLRNKREHEREE 3.2 195 637
1620911772 &M LoORONAY Y BILRNKREHEREE 3.0 27.5 856
162091178|/\t&EA EHEATIICTWIS ZILR/NREHAS 3.7 22.2 947
162100001 |1z 4 s LW = LB h I B R 26.2|  432.0[1,450,000
162100002 |rrarsie Eptazs) |>bsrcrond@reyacstovm | B 1L EFEHEHRETES 18.6 98.9] 146,000
162100005 REH WF A hizdL i =L B Al RS 4.9 220.0 8,664
162100007 | KIEEFE A BHARICLEICTHOWT  (BLEEHEHAREELBS 3.7 66.0 4,108
162100008 | K= 2587 BEHARCDIZHWIS 2L R EHETmRRAFAESE 3.5 127.0 3,207
162100009| KEAR =M BEEHITTDWIS BLEEHmMNENKER 4.2 33.0 2,390
162100010 J:EEf: }’[ﬁ D ANz WS 2L R EpEmAEN LS 2.3 19.3 129
162100016|7RH A7 B RfzH WS =1L B EiET)I £ 31.9 200.2 760,000
162100017 |#FHa8) LTI =L B ERFREA 5.3 51.6 4,613
162100018| KB & BEDIZHWIT =1L B EgET) I £ 4.6 47.0 1,630
162100021 (K32 BEDODDOH 2L REEmEE 8.4 85.3] 42,713
162100024 |12 B DDA 2L REEmEE 6.7 101.3 9,680
162100026|F L1 HFAIZD Wi 2L REEmEE 4.5 59.1 7,768
162100031 =& K2 WhPYdEEIDOH 2L B mEpmaR 6.0 35.0 6,332
162100032| &AL =Z A& WhEEhaPiczonlt |[BLREBHEHAER 4.6 85.8] 41,732
162100034 |RILE B LY DAV 2L R mEpmaR 7.9 70.01 27,000
162100037 |FafsFEA Sl &2 XIS =L B EET 7.4 83.0] 288,000
162100038|JII&HM v 32 MhW/ZLDDDAHh =L B mypmh)IEH 10.0 25.0] 57,058
162100043(E& Bz =L B EET 3.8 29.5 2,778
162100045 =8k SAEFN =L B A RS 2.9 38.2 4,960
162100046|EBEsF Ceo2WUnwoL B LR EREST 3.2 26.6 1,683
162100047(>> L At 2O LAWIT =1L B En T IEMT 11.8 85.2] 76,672
162100057 |f@ARAD O DERICDLB =1L B En AT 4.2 36.5 2,510
162100059 (A K2R, Shb ERNDOARIZHWIT | EILBEHHIRA 10.4 58.5( 26,211
162100060 (LA 88t PEDHELHWIT =1L B mEipm LA 14.6 122.0] 138,123
162100069 | E#h;83; DLTHWIT ENTIT Tﬁﬁ)ﬁm@?i’@ 17.0 94.2| 111,510
162100070 BE% EWiFo ENTIT e R s N 5.3 34.0 9,203
162100072|F Rt K LATzOWIT =L REEhE 18.1 87.0] 360,000
162100073 | 4K IS LAEBEWNT =1L B rEinT LR 6.5 140.01 34,978
162100074|=2 » &%) INAFIT=H WIS =1L B EpT iR 12.2 189.3| 207,096
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MR E = 2R Blze 123 (m) 3RIER (m) [#5K & m3)
162100075|7K =287 AT ORIz D WS ZEWLREREHIES 11.3 78.6] 58,424
162100079(AH » & 7=h7=1C ZILREHHAX 4.6 46.0 1,341
162100081 K42 B9 ZLREHmAX 5.8 44.0 2,732
162100092|E&HH mFELOT ZLREHEmAS 3.8 35.0 2,040
162100093| AF HZE— TECHELLS =2 L EmEp T ER 5.6 43.0 5,402
162100098(=-8& HOHNL B ZLEEHmeE 3.2 33.1 4,500
162100099 (&b T F7=HW T ZLREHEHmY TS 5.0 19.0 440
162100102|4b1L EYlacl-3 ELEEBHYFA 6.5 39.01 13,623
1621001157kt AT ORIz DH WIS ZWLWREHEH/NACZX 15.2 60.3] 19,182
162100116 KE& @ BBDHWNITWE Z LR Epm AT 2.8 30.0 445
162100131 |&A08E; PHIzHWIT ZILREHHmAX 4.5 16.0 1,021
162100157 |ZEME B L LATAWT ZLEREHHEE 3.8 42.0( 11,000
162100158( ="V Dt HFDODNFD WIS ELEEHEmeE 1.5 33.0 50
162100162( 412 DD DI =1L B EmEFR 14.5 62.0] 28,000
162110001 (&5 JEHLLWLIT SILEFKTEHAS 4.2 110.0] 19,800
162110002 (1A T2 W7z72I2L B DD H ZILEFKTEHA 10.6 55.6/ 15,500
162110004 (& /@b WLIE= WS EILEFKTEHAS 4.5 80.01 13,700
162110005 A ELEZITWIT S EFIKTEHAS 4.9 32.5 2,020
162110006 [ E A FoBWLIT SLESIKEEHS 6.3 31.0 4,080
162110008(@g V) & XA 7= 12U T == %T7T<F'ﬁ B #%} 5.0 40.0 4,760
162110009| A » & ZHT=IT W T =ZILRgkH 7.8 50.01 18,400
162110010(/NEE ZIZHEWVIT == %Tﬂﬁlﬁi# 11.9 43.5 14,200
162110011 |(EE I3 BWIT S EFKTEHAS 11.7 70.01 59,400
162110012|3zt8 T 18 7= THHLEDDH ZILEFKTEHA 10.6 127.5( 167,000
162110013|az8 E38 7= THIHDHDDH ZILEFKTEHA 4.3 89.0f 33,700
162110017 (5| mHb ODZEDHWIT EILEFKTEHAS 7.3 106.0] 41,900
162110018|BEEAM T it FVWESERL LW |BLUERHKTEIHA 54 61.0 9,600
162110020({#Z LA T it FTEPEAICLH WIS S EFKTEHAS 7.5 96.0 7,530
162110023 =&t FHOIZITWIT == %7}@'5%#%} 4.5 26.0 4,660
16211003045 1L T 32 TIESRELHDOA =ZILRgkH 15.5 63.01 34,600
162110031 (¥ H L2 1TV F=DH DDA == %ﬁkm&ri—f 5.8 52.01 35,500
162110032|JEH T2 IVELBEDDOH Z LRk mHELTFT 6.0 45.0( 16,800
162110033 (=& FF b PLEOWTS S EsKTELF 10.9 125.5] 96,000
162110037 (f2H S TZW T Z LRSIk LS 4.9 77.01 40,400
162110041 #2370 hiz>bWiF = LB &k EEF 7.0 160.0] 145,000
162110042 Bihith BAITS W =1L B &k EEF 12.2 82.5|] 109,000
162110043 KH1A T it BEPARETALICLEWVWT |BLESIKTEE 4.1 95.51 22,280
162110045(m& 40 OHWITWIT = 1L B HK T E 3.7 41.7 5,170
162110046(=1g A D DM = 1L B H KT R 4.4 203.3| 73,740
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LB KERRER-OB—E(BAIER) PH6EIARFRORERR
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MR E = 2R Blze 123 (m) 3RIER (m) [#5K & m3)
162110047 (%t BAGWIT = 1L B H KT R 3.6 92.01 66,660
162110049 (®h1sE # b H & LAWIF SIS i i 5.0 186.0] 49,682
162110052(2F Mt DIZWIT SINEENS i i 7.5 105.0] 62,800
162110053 =X SACE DYDY WIT ZILRFKkH LR 3.3 213.9 19,200
162110054|EF b Mo EWT =B ST A 4.1 61.5 7,800
162110057|5 R BIZEIHhWIiF =1L B HK TR 3.9 105.4( 29,430
162110058(A & 12 HHDDH Z LB S KT R 4.2 39.9 10,190
162110060 (3R TARVNIS Z LRSIk HEH 5.6 53.0 5,160
162110061 | &8t EY AW =1L B &k ERE 4.0 34.0 4,190
162110062 E& 18 TS5 WIS = LB HKHR 4.3 58.0 1,360
162110063 |1EH A4 TIES f=ICW T S ESKEERET 6.0 38.0 8,000
162110064 |FRFED S WVWAA WS =1L B 5Kk AH 2.5 28.5 5,990
162110065 B AV AR =1L B 5k mkAH 2.5 20.0 2,460
162110066/ & PEDIITWIT =1L B &k ERHE 9.1 100.0] 62,900
162110067 |FEA L CHEITWIT SLESIKEEHS 5.3 47.0( 10,200
163220001 |{EZEDith BTD W ZILR £ ET%@”E‘)? 12.0 55.0 2,007
163220002(F@ s HITEFH D NT LR EHEEEE 6.6 93.0 4,584
163220003 (b M7=CDWIF Z IR EHET A 14.0 100.0] 127,888
163220004 /MR 1 BlzlFThowiy Z IR EHET A 2.6 54.0 903
163220006 (7R ZEEIhowiT Z IR EHET A 4.0 30.0 988
163220007 (1T D&FE Dt 72T DILA DWW Z IR EHET A 4.5 105.0] 10,814
163220009(AR B b T >H D WIS ZWLE EHEERAE 9.0 40.0 4,222
163220012t ER A Dt LBEAD DN 2 ILE FHEEEHEES 12.5 72.01 19,233
163220014 [ 1L it ILXREDONIS =1L EHETRE 3.3 35.0 1,285
163220020(£ 4 ME WS Z LR ERERAE 3.5 20.01 60,000
163230001 | =&t AT D WIT = ILEST LTS E 11.2 50.0 6,168
163230006 [#E b 7= 2 Wi ZBT I LETESR 6.2 42.0 5,335
1632300108t MEZICWHIT 2B LR R 6.1 78.0 3,728
163230011 /& HFAM 1Z5 295 L7=icniy 2B LR R 3.6 63.0 1,895
163230012 (HFEith 2FDWLIF 2B LR R 3.6 126.6 1,800
163230013(KIEH BITHY W IF 2B LR R 2.9 117.0 1,800
163230015(Fth ME WS = LB L BT A 9.0 34.0 8,400
163420001 (&L 7122 WIF LR THIINEAEZE AR 5.9 107.0[ 32,000
163430001 {4811 7ot 72 FEICL WIS = WL BT H)EREA B BT L 6.5 82.0 96,000
163430002(TE B4 (TS T W T = LR T BBEA B BT 1L 6.9 101.1 25,200
163430003|EBém HDHWIF = LR T ERES B BT L s 6.8 74.0 5,000




